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Learning

Week four includes:

- 5 a day - one for each school day (set a timer for between
3 and 5 minutes)

- Maths I do you do - read the power point (40 minutes)

- Practice questions (60 minutes)

- Evidence questions (60 minutes)

- Extension questions — are you up for a challenge? (as long
as it takes!)



YEAR6 5 A DAY WEEK4 DAY 1

P drme:

DAY 1

Primary 5-a-day Silwer i

606 4+ 2,525

~1| B3
.
~1|

Baund 3. 541 1o the reares 100

Bauwnd 3,547 o the naarest 1,000

 Fou)

100
Habarof B
£ ieirgn T
=]

fan]

| | ey o s AT

D e rerd piyy | e mphegnd

g d P

Haw mary studenls ane here in todal in
Year 47

Haw marry more Year 4 children than
Wiear B children play a musecal nstrumel?

D Corbethrmathes 2017
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YEAR6 5 A DAY WEEK 4 DAY 2

Mame: Primary S-a-day Silwar
DAY 2

425 — 170 8 =< 44

Arrange these numbsens in onder, stafing
with The langest

15,123 16 20 15 O 15,103

Thres painks are shown on a grd.
ARCTY is & rechangbe.

Wirile diown the coordinabes of ihea paint D . I

Twedr of e shapes hasve been shadaed 55
Ih.ul:'—l of e shage i pink |

Which shape has ot been shaded — pink?
d

Sheapas A Shogs B Shape £




YEAR6 5 A DAY WEEK4 DAY 3

%ﬂf 78 4,511 — 1,042

Draw & rigil &ngha

Wiark out the differencs i heaight betweesn Mountan | Haight
i Ealkest and smallest mourftains n e : : .
(P18 MonT Blanc 4 B0 retres
Bar Feyis 1,354 metres
Carrountoohsl 1L O3B metres

Moust Varcowrer| # B1E maitres

Fiyan has ihase digt cands. Withat could Ayan's muliplication ba'y

) (&) (7] =

He makoes & 1-diglt and & 2-digil rumibes.
He mulliplies ibem iogesher and ihea
answer is & multiple of 4.

D Corbe rmathes: 2017 iy SorbS it im ath S ooim



YEAR6 5 A DAY WEEK4 DAY 4

Primary S-a-day Sitver l

16 x 100

Car=y

= £ K1

Have much moandy does Dyl an Fave?

-

Wit LI i figures:

Super Bosel LI vwilll takes placss i 2018

Find thes missirgg nurmbsens

The numbers in ths Sedguerod |ncreass by
the s mee armourd each time.

(173 88 ] 118

D Corbatrnaths 2017
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YEAR 6

5 ADAY WEEK4 DAY 5

= 2,300 + 900

9 = 62

A 2ong lasts 3 minuies 37 secomnds.

How long doss e sang last n sssands 7

&
: - - --h-.\-\-\.jq.
4 1 Ffr e
< 1 a Y
£ 2 — E
E 1 -l' 1 -
£ © -
E 1 P
= 1
E = | |"F.!‘- -
= 3
3]
- 1 1 1 1 A
g e S pw Pt -] Jo o
Time of doy

Haw marty dsgress warmer was it at 1pm

tan at 11am?

Al dprm the (smperabane was 5 degrsas

lawer than al 3pm.

Withal was the lempsaraiune at 4pm?

D Corbebmaths 2017

Wi Corbelimaths oam



Year 6: Angles Practise Questions

Practise 1
A
D o
~
- -
C
H‘\.‘

Write the letter for each triangle in the correct region of the sorting diagram

One has been done for you.

has a has an has
right angle obtuse angle 3 acute angles
Is isosceles A
is not
isosceles
Practise 2

This shape is three-quarters of a circle.

How many degrees is angle x?

Practise 3—EXPLAIN

True or False?

A triangle can never have

3 acute angles.




Here are some angles.

A C E \ ,
B D F &
a) Sort the angles into the table.
Acute angle | Obtuse angle | Right angle Reflex angle

o What is the size of each angle? Circle your answer.

a)

b)

40°

61°

140°

119°



° a) Complete the fact family for the bar model.

63+ __= 180 -a =

b) Tick the calculation in part a) that helps you work out the
value of a.

¢) Work out the value of a. a=

d) How does the bar model help you to calculate angle a?

63°

a Work out the sizes of the unknown angles.

Give reasons for your answers.

a)

X = because

92°

x 47°




Year 6: Angles evidence Questions

ARE 1
PQ is a straight line.

Not drawn
accurately

47° 26°

Calculate the size of angle x

ARE 3
Jamie draws a triangle
He says,

"Two of the three angles in my triangle are obtuse’.

Explain why Jamie cannot be correct.

1ARE6
Calculate the size of angles @ and b in this diagram

\ Not

to
~— scale

T~

: . H\(\
160" | | a /b\_,,f'

//

/[ \n— -




207

e Work out the unknown angles.

a)
\<1§
S>\

b)

b

a
73"
b

(9)

d)

81°

- 1

65°




b)

y= because

58°

25°

)

z= because

35°

ARE 8
The diagram shows two overlapping squares and a straight line.

Not to scale

Calculate the value of angle x and the value of angle y.




Year 6: Angles extension Questions

o Use the information to work out the unknown angles.

a) Angle a is half the size of b) Angle a is four times the size
angle b. of angle b.
a a
b [ b
(= =
b= b=

o The pie chart shows some children’s favourite snacks.

chocolate

fruit

sweets

A quarter of the children said chocolate was their favourite snack.
Five times as many children voted for fruit as voted for sweets.

Work out the size of the angle for each sector in the pie chart.

chocolate sweets fruit




o Work out the size of angle x.

o Angle f is one quarter of the size of angle g.

Angle [ is 28°.

139°

Are angles x and y vertically opposite?

Explain your answer.



e Two isosceles triangles are joined to form a kite.

a) Work out the sizes of the unknown angles.

104°

68°

W = y: X =

b) Work out w + x.

¢) Work out y + z.

What do you notice? Talk about it with a partner.




